v
e

[E]

£1HHB 108 7H(L) TR 2 0 FREE 3 EBES AR L BREES
T —TRE ST LA
FSv o DER
No 2 5% 45 e 0 o BErERE
1 Z 10 O0mH (0.838m) 3 #A 10:00 9:20 ~ 9:40
2 B 110mH(1.067m) 3 #H 10:15 9:35 ~ 9:55
3 g3 400m 4 %8 10:30 9:50 ~ 10:10
4 2 400m 12 #8 10:50 10:10 ~ 10:30
5 L8 100m 13 #8 11:35 10:55 ~ 11:15
6 2 100m 32 %A 12:10 11:30 ~ 11:50
7 g3 1500m 2 %8 13:30 12:50 ~ 13:10
8 2] 1500m 7 #8 13:45 13:05 ~ 13:25
. 13:50 ~ 14:10
) = 4x100mR 4% 14:30 A4 R 13:10
0| 8 axicomr  cm 50| 10 10
74—IJL FDER
<Bk B>
No 2 7% 43 B o o BErRE
1 5 = K B 32 & 10:00 9:10 ~ 9:30
5 B a5 M 12 &
2 10:30 9:00 ~ 9:30
g3 B as B 1%
3 Z £ tE Bk 48 £ 13:00 12:10 ~ 12:30
<ETE>
No i i H B oA B 1B W5 R
55  faik(6.000kg) 12 &
1 10:00 9:10 ~ 9:30
Y (0. 600ke) 18 4
2 g2 » Y #% (0. 800kg) 44 £ 12:00 11:10 ~ 11:30
3 & Raix (4. 000kg) 18 £ 14:00 13:10 ~ 13:30

KB DB RNIT R D L 38V T,

F1IHH ¢« ¢ - - 8:00




A [
% 2HHB 10A8AH((H) TR 2 o EE s R ARERKERS
HI—TRE ST LA
S v DER
No E B 35 1% B 4A B ] D
1 % 400mH (0.762m) 3 #8 9:30 8:50 ~ 9:10
2 5 400mH(0.914m) 4 # 9:45 9:05 ~ 9:25
3 -8 800m 4 48 10:05 9:25 ~ 9:45
4 5 800m 7 48 10:25 9:45 ~ 10:05
5 -8 200m 9 #8 10:55 10:15 ~ 10:35
6 5 200m 20 #A 11:20 | 10:40 ~ 11:00
7 -8 3000m 3 #8 12:10 11:30 ~ 11:50
8 5 5000m 7 48 12:55 12:15 ~ 12:35
. 14:40 ~ 15:00
9 = 4x400mR 3 % 15:20 A4 SRR 14:00
. 15:05 ~ 15:25
19 % 4x400mR b #l 19:45 | 07 s e 1ds
74—IL FOEB
<ik BE>
No 1 B B B E B GG
L2 £ 1B Bk 14 &
1 10:00 9:10 ~ 9:30
-8 E B B 26 £
2 5 E & B 38 4 13:00 12:10 ~ 12:30
3 "8 = B OB 17 % 14:00 13:10 ~ 13:30
<®ETE>
No i B 555t % el o e RS RF A
5 M (2. 000ke) 3 %
1 10:00 9:10 ~ 9:30
=5 FA#EEA0.750ke) 18 4
2 M (1. 000ke) 22 % 12:30 11:40 ~ 12:00
8 - (7. 260ke) 14
3 =58 - (6. 000kg) 4 £ 14:30 13:40 ~ 14:00
. 3-$% (4. 000ke) 10 4

KB DB RNIT R D & 38V T,

8:00




